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502) 13i 44y + 1ix
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3688x% [ 18 13
41 36

23n 1
506) 20453t m- 18,
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508) 482(-13y + 12x
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510) 3% 72y + 315
41 77

512) 45==x - 1>

2717x(,_41 5
90 9 Y

257ab?
514) sola + 9§b
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g2\ 23 27
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M (16m+34-“n
2 10

519)

3 6
521) —(x-1—
) 19( 91y)

523)
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02X (3929, 113,
33\ 92 17
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3|, 47 17
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71 15 Y

699°( 16 14
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531) 2oY[51 19, 1 1047
37 \7730 82

533)

4
0m (4173 3
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29x?
535) XY (13, 1054y
18 ("84 s3

537) 36—Xx—-1—

16x° 3 77
14 92y

520) 26 ~(2x + 15y
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522) B34
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25 87

524) 9 x+—
47

146y( 9 13
200 25

526) —
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1725a°
508) 5a b( 69

68 89

530)
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534) 12 (2m 127
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538) 3l(7§x+ )

13\ 20" " 25”7
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16£ 2X + 1£y
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1i 7£a + 15£b
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11m?n
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4
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2177 71
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2
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14—+ 43>
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9 7
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1—x+—

550)
97" 4
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554) 110 1344+
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556) 40§ 26ﬂx——y
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559) 43— (262 %+ 2722y
8o\~ 47 39

561) — 42057ty
5 37

563 +50=—
) 15 y

2156y(49 |, .17
86 24

8
565) 40212 m+—2n
88\ 55 13

22x? 5
567) <Y [-58y + Ox
53 6

2089u? 11
560) 200U (5o£u +—v)

60 58 19

571)

67 \7 73

573) 1929 (1 30 y
g1 " 5

34
575) <[8295 4 45-Ly
29 "33 11

13 59
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560) 7x( 34 48y)
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4\ 43 91

562) —=——

564)
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32(5
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2903uv 27V
74
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2
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4
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2
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46 3
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12 \71 93
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88149 14
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1
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1
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MATHX.NET

Multiplying polynomials - Fractions - Simplify product of monomials and binomials

Simplify product of fractionswith two variables:

1) 41(§m - 11n)

3\5 2 5 \7
23m-61n Zgyf’x+52 y°
5 2 5 2
2y° 1
3) = 1Ex+—y 4) 1g 21u+ 13\,
7 5 4 3
2 5 1 6
—YX+— 3u+2-v
5y 14y
3
5 — 21x+21y 6) 31 1Zu+ 1§v
4\ 6 2 8\ 8 7
1§x + 1zy SEU + 5EV
8 8 6 56
17x(5 1 5y* (1 5
7 —|=x+— 8) ——|—x+3—
o) % {eersd
13 , 5 5, 19 ¢
3—X"+1— —Yy'X+4—
24 12xy 16y 24y
3v 3
9 — 4§u - 11v 10) 2Z 3£x+—y
7\ 7 2 5\ 7 7
9
A -2y 82y + liy
49 14 7 35

3 2
12) 1—|x—-3—
) 4( 3y)

4~a”> - 1-—ab 13- 63y
1 4" 12
14xy (2 %9a
13) (2, o1, 12) (225~ 23
5 \5° "8 g\"3 "4
1 3
1-—x%y +8— 3a’ -3—ab
257 YT 0" 32
15m? 1 3x%y (1
15 212 16) Y2y 111y
8 3 5 4~ 75
3
2 B30 4+ 2en 3y + ——x?y?
16 20 25
29n 1
17) — 1ﬂm+—n 18) — 11x— 1gy
5 6
29 14
62Lnm+ 22 M3
40 40 15 25



3
Xy 3— +2 y
2 3 7
1 6
5=x%y + 3—x%y?
5 y E y
23) 13[11x+ 13y
2\ 4 5
7 2
1—x+2—
8 5y
23b 1
25) 22414 + b
6 2

2
17= b +—3b2
24

35) 12(12u+ a1y
32 8

9

X 1— x+5y
2 3
7 e 433

5 y xy

2
28) ﬂ(1— a+3- b)
5\ 2

1ﬂb2a+ 4—b3
5 7

4y[6 2
30) —|=-x—-=
) 3(7 7y)




1
14 7

45) (X 13 V)

1.5
2 6y

8\ 8 8

112% 5%y

64 64

33y - lZUZVZ

2
5 11b (3_ E)
6
g1ty
32
2
8 2
3?8 - 911y
8 16
1
8 4
31 29b2

2—ba+8
32 32

4 2
8lp+14'a
2 8

10x(3 2
a2) —Sx+ 2
7\4 3

14
5
n 3
48) —(1—m+ 1 ”)
4
.
L em+ e
12 15

3(,2,_ .3
50) 4-{1-x=3
) ( 3 Sy)




13U
o 2t

1—u-3—
5

8
3L o103y
30 40

1
67) 15 —U+4ZV
6\5 8

11 15
—Uu -+ 87V
30 16

1
4\ 2 8

3§a + gb
8 32

71) 1§ 31a+ 1§b
6\ 5 6

5Ea + BEb
36

15

5 \6 2
11p% - 9~ b
6

3

2 1
77) ﬂ 2n+—m
6 2

ggmn +2-—m°
12

60) 39_m -4n + Zlm
8 2

“193mn + 12307
16

62) 2>[22m+12n
4\ 5 6

6im +5—n
20 24

1(.3 1
64) =[1Zx+3=
) 2( 4 Sy)
7 2
—X+1—
8 37
3xy 6
66) ——(x+1-
) 2( 7y)

1 > 11 2
1—x°v+2—
YT e

9
68) =X 8x — 11
2 6

1
36x% - 5=
Y

14x2 1
70 YL,y
3 3

2

10§x3y + 2;X2y2

21 6



11 1
79) 37| =x+=
) 6(2 2y)

7 7
1—x+1—y
12 12

2y?[. 1 1
81) ——|1=x-1=
) 3 ( 3 Gy)

5 6 ,
1=yx—3—
7YX 7y
11x2 (3
g5) X [3y1ly
7 \7 8
Ber1 By
49 56
4y(2 5
87) —|=x-1=
) 7(3 sy)
8. 13,
21 14
89) om n+§m
4 4
1

4
80) 2 (22u+11y
3\ 7 5
31005 4 2uty
21
82) 31 1§u + 1ﬂv
3\ 8 5
5£u + 6V
12
428
84) . 2a+ 1Zb
3 5
13

2
2-a’ +1=a
3 15

86) 5—b(6a + Eb)
4 3

5
71 b8+ 2p?
2 6
4mn® 1
88) m 1§m——n
3 5 3
4
Zimzn3 - —mn*
15 9

90) 1§ 11x— 11y
8\ 3 3

1 1
2—X—2—
6 6y

92) n 11m— Zln
3\ 6 3




99) 11(3ta+1tp
8°8% " "6

3m
107) — 2§m+ 1£n
519 12
1§m2 N limn
15 20

2
109) 32,2,
4\ 7 5

1(1 5
115) 1={=x-1>
) 3(6 9y)

2
X 2 2
100) —(1—x-—-2—
) 5 ( 3 7y)
1 16
*XS _ 7X2y
3 35
17
102) 211+ 420
104 7

2
2=nm+ 7=n?
8 7

mn
104) — 41m + 51n
2\ 5 2

Ox[| 7 7
106) —|1—-x—-3—y
5\ 8 12
3 9
3°x2 - 6—
8 20"

2
108) 2 {1>x+11y
1\ 11

4
32 5

X+ —
121 27
52 1
110) X[ -2y + 3>x
11 6
_93 32,

+14—x
Y 33

116) 13182221
2\ 7 12

ZEa—BEb
14~ 8
1nm? 1
11g) SN, 9 1
6 11 2
8



119) Y[12x+ 61y
6\ 7" 12

9
2,,3 4

125) 1i u+ 2§v
11 4
1£u + 4v

3
127) 3V (1 117
> {100 8

13,2
2

Ve — ZEUV4
16

133) 2[5ty 421y
g (74" 2

5m
120) — Zlm— 33n
8\ 2 10
lim2 - Zimn
16 16

5 \4 2

2 2
15x%y - 85xy?
XY 8%

1 2
124) 1Y (51x - zly)

4 8 8
11 3
24——=x3y — 10—x°y?
32 y 32 y

2(. 1 2
126) 6-(1—-x+3—y
7\ 4 3
7§x + 23iy
7 21

3
y (4 1
128) —(—x—-3—
) 10(5 2y)
2 . 7,
— X_i
257 " 50”7
2
130) 2515410y
4 \74" " 10

6—x° + 21x2y
16 8

4 11
12—y* +9—
57 457
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139) —2{10—x+4-—
) ( 117 10 y)

143) 33(a2x+ 13y
5{' 57 "9

16Ex + 7§y
25 45

3a°%( 1
125 22 (6104130
2 2 10
0364119 5
4

7
147) —b —a- Zgb
4 5 11
1gba -~ 5—b2
5 11
2
39m 2m+ 5in
8 10
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4

+ 24@m2n
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2
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2
—u+ ZEV
5 4

155 X113
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2
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3y 8yx
154) (G:X 43y)

5= yx+32y2
10yx 5y

1
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6—X+—
9" a0’
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159) 51 (61x+ 3§y
12\ 5 9

315 1083,
60 08

5 13
3*X5 +3—)(4 2
U ARET I
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160) 241 841t
o1 7
21u2 + léuv
9 6
14 1
171) 22224+ 2y
3”7

2 , 2
10—x“ +—
11 3xy

173) 3 {a>u—-12y
12127 "3
13§u - 5£v
144 36

4(2
175) 1+ Za+3 b
ELEERET
30
0 1+25
1217 121
14 4
177) 2684 -2y
319 5
4., 11

32—x° —-3—
27 15
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11\7 7
4,40,
77
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3 15

2
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2’6" 8

3
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35 . 5

— Xy +
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X5 2
64 y

189) 4—b(2a - 11b)
11 4

8 5,

11 11
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1
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9 6
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201x - SZy
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2
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1 1
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2
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7
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56 14Xy
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6 1

11 7y

2
1
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15 4
201) ~Xfov+ 2y
2 5

15uv + 6u?

23y° 1
203) 2 (6 x4y
18 10 6

101 , 23 ,
8 — Yy X+ —
1807 * " 1087

2
205) 230 (a+3b)
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7212 + 51b°
3 9

207) 1£ 3£x— 11y
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5@x - Ziy
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1 2
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2
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26— y?x -
38’ * " 207

23y(1
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18 ¥ 108 Y

215) o3u-2y
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2£u + 6£v
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217) 11 {180+ 6ly
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200) 1-2(22u+aty
11\"3° 10

240 228

7 1
204) 1—|2x—-2—
12y
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13 13

8
206) 8- (1222~
16\ 17 9
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14="a-7-—"b
272" 18

1
208) 22 14m + 1.
17 3

lSEm2 + lémn
17 51

1( 2 2
210) 1—{4—m+—n
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5§m + En
6 6

212) H(ﬁx + ziy)
9 \4
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12 42)(y

2
33y 1x + 61y
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214)
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2—x2y% + 27 —=xy?
16 Y 80Xy
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218) 1§ —X- 1Zy
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—X-=2
49 Y
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2
12 7

100y 2
220) —Y[9=x -1
) 12 ( ; y)

2 828, 2
noyk-8
¥~ 839Y

237) 12(103 x+ 1£y
g8\ 11 19

16gx + 2iy
88 19

2

220) 3 2X + 1iy
2 13

3X3 + 1§ X2y
26

11x% [ 1
222) X[ Ly 10ty
8 \12 2

251 1
57— +102—
2727 l6y

1
230) E —Uu+6— 1 —v
11\20 16

—Uu+ 43\/
55 22

2
232) 29u°v 8§u—1zv
8 6 9

1 4
32— 13V - 6-Uu?V?
48

2
234) b ( 7b+1ga)

.
126% + L%
6 27

212
236) 83ab 1_ ‘4 9 o
19 V2 20
21 3b2 + 19—~ 167 2b3
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13714 15

10ﬁ + 15£
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238) 3— 9( 13 +4£n)
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1
239) X[ 15y + 719
11 20

8 87 ,
~17—xy + 9— X
117" 220

241) 2i 8§x— 2£y
17\ 13 17
57 75

19—x-5—vy
221 289

135x%y (2
243) V(2,4 192,
14 \5° T3

6 4 6 32
3-x'y +102-x
Xy Xy

13v 1
245) —|-v+3—u
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1 1
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249) M ep+ia
20 4

17
—13§b2 +—ba
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6
251) g La_13p
7\ 12° a4
GEa2 - llab
14° 72
253) M6Zm-112n
57 12
9 23,
—nNM——n
35 60
255) 7§ 11m—ln
a3 17
10Em - BEn
27 7153
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257) 2¥[324 22
3\73" ‘17

4 5
24—yx — 15-——y?
o’ 17”

1
240) 7£ 3§m——n
20\ 5
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1
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25v° (13
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16 \18 3
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1
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1, 2.
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10\ 18 3
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12 Xy

2
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13\17° 10

8 , 34,
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221 65
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263) ~(13x + 7iy
11 16

7 5, 7
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11 8Xy

Xy 5
265) —2[-y + 3—x
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1, 5 ,
-z +1—X
37 Tz
1 14
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7 37 ,
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1 1
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7\ 147 s
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11—x+9—vy
49 35

o7 (1 Ly
7 {0" 18
2, 1

T
9 126)(y

7 2
273) Vo fy+ 12
8 17
7, .37,
g’ e’
275 92479 4+ 2
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18——u+4—v
150 36
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3 1
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11 17

7 5 50
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16 9
191£a2 — 13g ab
144 32
3a? (§ B _)
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4 \8 16
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7£ + 5En
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287) 1N
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1
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1
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1
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2 1
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2
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288) ——|=x+7—
16 \2 10
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y
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o33
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19 9
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298) 9—|—
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18y? 1
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305) —(-——-u-1-v
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48ab?
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120 192

2
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X y
18 \43 48
23 2 4 851 ,
774 / 864 y
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315) — 1£x -=y
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1 46

=X -
a5 2737

8 2
317) & 591132y
5 |34 16
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40—x3 + 21lx2y
85 10

1—m+1—n

5
300) 10m°n(, 11 7
12 18

lgmen + lim5n2
78 117
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